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QUESTION 1

Which two statements describe the standard single-site topology for VMware Cloud on AWS DRaaS? 

(Choose two.) 

A. Multiple remote sites that could be configured each to recover to individual VMware Cloud on AWS SDDCs. 

B. Multiple remote sites that could be configured each to recover to a single shared VMware Cloud on AWS SDDC. 

C. A single shared remote site that could be configured to recover to multiple shared VMware Cloud on AWS SDDCs. 

D. A single remote site that could be configured to recover to a single VMware Cloud on AWS SDDC. 

E. A single shared VMware Cloud on AWS SDDC that could be configured to recover to multiple VMware Cloud on
AWS SDDCs. 

Correct Answer: BE 

 

QUESTION 2

What are three primary use cases for HCX with VMware Cloud on AWS? (Choose three.) 

A. Bulk migration 

B. Layer 2 extension 

C. Container orchestration 

D. Operating system upgrades 

E. Replication-Assisted vMotion 

F. OVF deployment 

Correct Answer: ABE 

Reference: https://aws.amazon.com/blogs/apn/migrating-workloads-to-vmware-cloud-on-aws-with-hybridcloud-
extension-hcx/ 

 

QUESTION 3

Which two virtual devices are appropriate for virtual machine migration with HCX into VMware Cloud on AWS? (Choose
two.) 

A. VMDK Disks 

B. Virtual RDMs 

C. SR-IOV Devices 
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D. Shared VMDKs 

E. Mounted CD images 

Correct Answer: AC 

References: https://docs.vmware.com/en/VMware-HCX/services/hcx-user-guide.pdf
https://www.usenix.org/legacy/event/wiov08/tech/full_papers/dong/dong_html/index.html 

 

QUESTION 4

A customer wishes to deploy a new application on VMware Cloud on AWS. This application will consist of several web
servers and application servers. The data on the application services needs to be backed up regularly and backups
must be stored outside the SDDC to meet compliance. The backup solution should be able to support full VMDK
restores as well as file restores. A recovery time objective (RTO) of 5 hours is required for backups up to 30 days old.
After 30 days, the RTO of a backup is 48 hours. 

Which solution will meet the requirements more efficiently? 

A. Deploy a third-party backup solution from a supported VMware ISV partner. Store backup jobs to Amazon Simple
Storage Service (S3) or an Elastic Compute Cloud (EC2) instance with an attached EBS drive. After 30 days, migrate
backups from S3 or EBS to Amazon Glacier. 

B. Deploy a third-party backup solution from a supported VMware ISV partner. Store backup jobs to the local on-
premises SDDC, and once the backups reach 30 days old, transfer these backups to tape libraries. 

C. Deploy two SDDCs in two separate regions. Set up Site Recovery between the two SDDCs and configure vSphere
Replication to take snapshots of the virtual machines every 15 minutes. 

D. Deploy an SDDC cluster in stretched mode expanding across two availability zones in the same region. This
configuration provides the lowest RTO possible. 

Correct Answer: A 

Reference: https://d0.awsstatic.com/whitepapers/Backup_and_Recovery_Approaches_Using_AWS.pdf 

 

QUESTION 5

A site pairing was manually broken. 

Which step must be used to re-establish the pairing? 

A. Create a new mapping 

B. Configure a new site pair 

C. Reconfigure the site pair 

D. Refresh the site pair 

Correct Answer: B 

You cannot use the Reconfigure Site Pair action to add a missing pairing or a pairing that was manually broken with
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Break Site Pair. If your site pair is missing a pairing, you must use New Site Pair to configure it. 

Reference: https://docs.vmware.com/en/Site-Recovery-Manager/8.1/com.vmware.srm.install_config.doc/
GUID-7C839753-BD05-4336-A4B3-ECA556BC0D94.html 
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